
1.3 Algebraic Properties                NAME:__________________________ 

 

          DATE:_______ 

 

TRUE/FALSE  Circle true or false.  If true, circle the property used to determine the expressions equivalent. 

1.  𝑛 − 4 = −4 + 𝑛 

TRUE or FALSE 

If true, equivalent by… 

Commutative Property 

Associative Property 

Distributive Property 

2.  (𝑥 ∙ 3)𝑦 = 𝑥(3 ∙ 𝑦) 

TRUE or FALSE 

If true, equivalent by… 

Commutative Property 

Associative Property 

Distributive Property 

3.  2(𝑎 + 𝑏) = 2𝑎 + 2𝑏 

TRUE or FALSE 

If true, equivalent by… 

Commutative Property 

Associative Property 

Distributive Property 

4.  3(𝑥 + 4) = (𝑥 + 4)3 

TRUE or FALSE 

If true, equivalent by… 

Commutative Property 

Associative Property 

Distributive Property 

5.  𝑎(5 + 𝑏) = 𝑎 + 5𝑏 

TRUE or FALSE 

If true, equivalent by… 

Commutative Property 

Associative Property 

Distributive Property 

6.  (𝑎 + 𝑏) + 2𝑐 = 𝑎 + (𝑏 + 2𝑐) 

TRUE or FALSE 

If true, equivalent by… 

Commutative Property 

Associative Property 

Distributive Property 

 

 

Fill in the reasons for each proof with the correct property used. 

7.                  Prove: 𝑎 + (2 + 𝑏) = (2 + 𝑎) + 𝑏 8.                   Prove: (2𝑥 − 5)4 = 8𝑥 − 20 

𝑎 + (2 + 𝑏) Given (2𝑥 − 5)4 Given 

(𝑎 + 2) + 𝑏 ____________________________ 4(2𝑥 − 5) ____________________________ 

(2 + 𝑎) + 𝑏 
____________________________ 

8𝑥 − 20 
____________________________ 

 

 

  

9.                Prove: 𝑡 + 3(2 + 𝑡) = 4𝑡 + 6 10.                Prove: (5 + 2ℎ) + 4ℎ = 6ℎ + 5 

 𝑡 + 3(2 + 𝑡) Given (5 + 2ℎ) + 4ℎ Given 

𝑡 + 6 + 3𝑡 ____________________________ 5 + (2ℎ + 4ℎ) ____________________________ 

𝑡 + 3𝑡 + 6 
____________________________ 

5 + 6ℎ 
Combine Like Terms 

4𝑡 + 6 Combine Like Terms 6ℎ + 5 ____________________________ 

    

11.                Prove: 𝑎𝑐 + 𝑑𝑐 = 𝑐𝑑 + 𝑎𝑐 12.                Prove: 2(ℎ + 5)(4) = 8ℎ + 40 

𝑎𝑐 + 𝑑𝑐  Given 2(ℎ + 5)(4) Given 

𝑑𝑐 + 𝑎𝑐 ____________________________ 2(4)(ℎ + 5) ____________________________ 

𝑐𝑑 + 𝑎𝑐 
____________________________ 

8(ℎ + 5) 
Multiplication 

  8ℎ + 40 
____________________________ 

 

 

Corrective Assignment 



Simplify each expression by distributing 

13.  −10(8 − 10𝑚) 
 

 

 

 

 

14.  3(𝑚 + 4) 15.  −9(7 − 10𝑝) 

16.  
2

3
(6𝑥 − 15) 

 

 

 

 

 

17.  −
5

4
(4𝑛 + 8) 18.  

5

2
(4𝑛 − 12) 

Simplify each expression by distributing and combining like terms. 

19.  6 − 9(3𝑚 − 10) 
 

 

 

 

 

 

 

 

20.  −4(10 − 10𝑟) + 7 21.  3𝑥 + 6(7𝑥 − 5) 

22.  3(4𝑛 − 7) − 11𝑛 

 

 

 

 

 

 

 

 

23.  3 − 6(8𝑣 − 2) 24.  7(𝑏 + 2) + 𝑏 

25. 7 − 7(−8𝑛 + 2) 
 

 

 

 

26.  −6𝑥 + 10(9 + 2𝑥) 27.  8 + 2(4𝑎 − 5) 

Answers to Corrective Assignment 1.3 

1. True, Commutative Property 2. True, Associative Property 3. True, Distributive Property 4. True, Commutative Property 

5. False 6. True, Associative Property 
7.  Associative Property 

     Commutative Property 

8.  Commutative Property 

     Distributive Property 

9.  Distributive Property 

     Commutative Property 

10.  Associative Property 

       Commutative Property 

11.  Commutative Property 

       Commutative Property 

12.  Commutative Property 

       Distributive Property 

13.  −80 + 100𝑚 14.  3𝑚 + 12 15.  −63 + 90𝑝 16.  4𝑥 − 10 

17.  −5𝑛 − 10 18.  10𝑛 − 30 19.  96 − 27𝑚 20.  −33 + 40𝑟 

21.  45𝑥 − 30 22.  𝑛 − 21 23.  −48𝑣 + 15 24.  8𝑏 + 14 

25.  56𝑛 − 7 26.  14𝑥 + 90 27.  8𝑎 − 2  




